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➢Question 1- 108 × 107

➢Question 2- 112 × 113

➢Question 3- 96 × 94
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Question 1- 4514 + 2438 + 516

A.7568

B. 7468

C. 6468

D.2268
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QUESTION 2- 34768 + 55348 + 8146= ?

A.88262

B. 55262

C. 98262

D.12362
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QUESTION 3- 52 × 48 + 108 × 106 - 123 = ?

A.13672

B. 11672

C. 12216

D.22672
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QUESTION 4- 30% OF 450 - 33.33% OF 540 + ? = 100

प्रश्न 4- 450 का 30% - 540 का 33.33% + ? = 100

A.45

B. 245

C. 445

D.145
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A.1199

B. 1399

C. 1499

D.1299

Question 5- 8649 + 48×42 - 2430÷3



Question 6-
4

9
× 3402 + 

4

11
× 1386 = ?

A.2016

B. 2106

C. 2206

D.3306
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Question 7- 52 + 132 – 112 + 320 = (?)3 – 52 + 16×20

A.5

B. 7

C. 8

D.2
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Question 8- 20% of 45 ×50% of 20 ×? = 1008

प्रश्न 8- 45 का 20% ×20 × का 50%? = 1008

A.12.2

B. 13.2

C. 13.2

D.11.2
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Question 9- 75% of 7500 + 2144÷4 = ? – 30% of 150

प्रश्न 9- 7500 का 75% + 2144÷4 = ? - 150 का 30%

A.2606

B. 6026

C. 6202

D.6206
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Question 10- 7744 + 45% of 1800 + 666÷37 = ?

प्रश्न 10- √7744 + 1800 का 45% + 666÷37 = ?

A.1116

B. 907

C. 619

D.196



https://t.me/mathbytarunsirmepl

Question 11- 5376 ÷ 24 × 26 ÷2 – 700  = ?

A.3012

B. 2912

C. 2112

D.2212
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Question 12- (2.89)6 ÷ (4913 ÷ 1000)3 × (0.17 × 10)5 = (1.7)?–6

A.14

B. 15

C. 16

D.7
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Question 13-
3
1728000 + 

3
2197000 +

7200

9
= ?

a) 2150

b) 1050

c) 3150

d) 1120
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